[—

Gy

Answer the following problems. No calculators, formula sheets, or other aids are permitted. Please
show all of your work. Simplify all solutions completely and clearly indicate your answers.

MAC 2312 Quiz 6 February 27, 2025

1. A spring has a natural length of 0.5 meters. If 20 Joules of work is needed to compress the
spring 0.1 meters from its natural length, then how much work is required to stretch it from
its natural length to a length of 0.7 meters?
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2. Find a formula for the nth term of the sequence below (starting with n = 1), and then deter-
mine whether the sequence converges or diverges. If the sequence converges, then determine

what it converges to.
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